N = 0l & At & Ml A

2 TADIED
M M2 §8F M (BZES/HIIE)

Chelr R CABY F4 (B9 ®R)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S AIDI 32t 27,519,386 31,145,002 £3,625,706
= 42,720
< 12,180
Al 27,464,486
HII2 228 M (S#FES/HIIS) 26,414,960 30,292,070 A 3,877,110
= 42,720
< 12,180
Al 26,360,060
MRet TAIEE =4 18,949,141 18,629,623 319,518
= 40,720
= 7,680
Al 18,900, 741
HOIS XM 22 - &= 249,232 145,542 103,690
= 40,720
= 7,680
Al 200,832
201 Let249] 6,120 11,380 25,260
01 At 22l 6,120 11,380 25,260
O et=&H| 6,120
o HII2 &4 ADES ME
1,000& = 50000 » 43 2,000
o AXRZ HApotdze M S22 HME
1,000& = 2,0000H = 1& 2,000
o HJII= =¥8XHc 22 82 =% MA
80,000 = 144 =13l 1,120
o AYH HIIE 2B NEEAE KN
1,000& = 50000 » 23 1,000
202 o4dl 12,400 2,280 10,120
= 10,000
Al 2,400
01 = LH o4 1l 12,400 2,280 10,120
O HII2 &, Melga 2F, 28, Az &
SHE 75,000& * 2H * 2& * 33 900
O HIl=2cl8 H3us &€ 243 Miiut &4
75,0003 * 2% = 3¢ « 23| 900
O X A4 HII=S LHZEZAM
20,0003 = 2% = 3¢ « 53| 600
O =dIOIE A=2 AT At
10,000,000& * 14l 10,000
= 10,000
301 et d s 49,912 14,882 35,030
12 JIE2 4= 49,912 14,882 35,030
O AgIo +H =0 49,912
o QUMELE 974 2303 + 198 x 12013 11,691
o RAZH 4,000,000& = 19¥ = 13 4,000




2AMd: TAOIS D
M HIIE Ss28 HA(BFEES/HIIES)
el WRE CABY ZH (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o SEREx73
10,693,900& = 3FH * 13| 32,082
o SE&H] 712,930& * 3H 13 2,139
307 21201 A 20,000 15,000 5,000
05 RIZt2lEt = 20,000 15,000 5,000
O SAZUEHIIS S 28 iE HoI=S /A
Ml ==8 20,000,000& * 14 20,000
308 XtXIEHH SOl A 84,000 102,000 A 18,000
08 JIEtRE = 84,000 102,000 18,000
O ZXHII=S dHUEY HE 208+ RE
(#a=) 14,000,000& * 12JH& * 50% 84,000
403 XIS S X201 & 76,800 0 76,800
= 30,720
< 7,680
Al 38,400
02 S| 2SI CHSHHEH AH B 76,800 0 76,800
O =dIOIE H™el XNJAY
2,400,000& * 323 76,800
= 30,720
< 7,680
Al 38,400
MEHIES =8 - 28 2 II2F A 18,359,506 18,141,277 218,229
201 Lt 675,000 0 675,000
01 At 22l 8l 675,000 0 675,000
O MEHIIZ 43 2¥ FAHY A%
500,000& = 45CH = 302 675,000
202 044l 1,440 720 720
01 = LH o4 1l 1,440 720 720
O BAUEAEN N E4
20,0003 = 3F * 2 12042 1,440
307 glz2tol & 17,683,066 18,140,557 AN 457,491
05 RIZt2E = 17,683,066 18,140,557 A 457,491
O BAHBMS(MEHIS =&, 28 2 It
2HAL)FAN 17,683,066,000& * 14l 17,683,066
Olgd= 2tRI 22 = 19,300 38,230 A 18,930
201 ¢er24l 18,300 17,230 1,070
01 At 2t 2l 18,300 17,230 1,070
O e+l 18,300
o HZdEgs 88 7Y 10,500
PPIZCH 300& = 20,0000H 6,000
- & A 2,500& = 1,0004 2,500
- & & 2,500 = 80Et » 6IHE 1,200
- oM 4,000& » 200& 800




S AIOISH

P HOIE 2Ed (B 2ES/HIIE)
DRRE ZAE A )
SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
o HZEgs FUSEE NH 7,800
- 8% 80,000& = 300HA * 23] 4,800
- ERFOT(ZE) A
150& = 20,0000H 3,000
303 Z&f 3 1,000 1,000 0
01 243 1,000 1,000 0
O M2 40h DI& o= DRI HBES 2=
= 200,000& * bS8 = » 13 1,000
HOISSEM & 321,103 304,574 16,529
201 £B-2dH| 21,100 21,410 A310
01 At 22/l 21,100 21,410 A310
O ger==&Hl 21,100
o HEHII= WEsdld AEIH WA
100& = 5,00001# = 108 5,000
o MEHI=ZSEM HHEW AlE 22 &
o M 100& = 10,0000H * 33l 3,000
o MEHIN=SESSH SFEHIA EXE FH|
(&7, 8lE ) 1,600
- AEIFAH 150& = 4,0000H 600
- EXE 20,000 * 5000 2 1,000
o SYEJI2E 0 BUE 2O X
80,0003 * 3MA * 23 480
o EYSINZNT M7 A L FH(HEE
~S A 150,000& * 400H A& 6,000
o EYSINZINT M7 A L FH(HEd
—Z ) 250,000& * 169H £ 4,000
o SHSIINHE MY Hags: L oA
=2 3,000& = 100A 300
o HIISZZSZEMSE E24&1) RUAZE A&
2 60,000 * 1JHA * 1200 & 720
206 M= Hl 293,943 277,464 16,479
01 = tl 293,943 277,464 16,479
O dEHII2 SH 8§ HMAOIHEL) 198,441
o UBE 54 26 * 22,0000 » 9= 5,148
o dgtE 104 343 x 125,00000# » 9 = 38,250
o YdtE 204 53& = 110,00008 = 9oH = 52,470
o dtE 504 1143 = 80,0000 » 9= 82,080
o BtE 1004 2073 = 11,0000 » 9H = 20,493
O MEHIIS S2H 85 HMA(EHH) 38,790
o YPE 54 263 * 55,0000 * 3= 4,290
o detE 104 343 = 127,0000# » 34 A 12,954
o 2BtE 504 114& = 63,0000 » 343 21,546
O SASJRHII= SEM =5 MH 27,036
o 14 15& = 18,0000 = 1201 & 3,240




S AIOISH

M HolE2 88 H

MRS TAIESE (e &)
SAH-EB .S (3H) - HEAY - BE2 il HDS2
o 24 19& + 22,0000 = 12J0 & 5,016
o 3¢ 21& = 25 00000 = 1200 & 6,300
o 54 26& = 40,00000 = 121 & 12,480
O HIISZZEM 25 M (HWAE 25) 15,996
< 104 36& * 8,0000 = 12J0& 3,456
o 204 55& = 19,0000H = 1200 & 12,540
O HIIZ2ZSEHM 85 (838 858) 13,680
o 504 1143 * 10,00000 = 1274 & 13,680
301 dEtE A= 6,060 360
12 JEtE &2 6,060 5,700 360
O HIIZ S8ED| AL ZAZ 6,060
o HASE 0AE
50,000 = 824 x 1201 & 4,800
o g8 x &I 15,0003 * 724 = 1294 & 1,260
Ao Hery MEs 538,824 418,334 120,490
= 2,000
& 4,500
Al 532,324
SAZEF HIIZ2 Hel 137,848 96,450 41,398
201 et Y| 11,140 7,110 4,030
01 AFR2t2l bl 11,140 7,110 4,030
O gtx==H| 11,140
o SAEE HIIZ2 5 HREZS H&
100& = 1,6000f * 3Z = 1201 & 5,760
o SAZER HII=2 S2&EzE g8 8¢
K& 100& * 30,0005 3,000
o SAER HII2 22I=E g2 &2 A
& 80,000& * 5 A 400
o SAZEF HII=2 E01J] AHoI=gs e
=8 330,000& * 6IHE 1,980
202 O B 1,200 600 600
01 2L Y| 1,200 600 600
O SAS&% HI)IS N3 =stnxy =24
75,000 * 294 * 22 * 43| 1,200
307 QI2t0| ™ 115,508 80,740 34,768
05 A2t E 2 115,508 80,740 34,768
O SAZ28 HIIZ S2+HEJ HME 115,508
o thsxH 75,668,000& * 14 75,668
o BT 39,840,000& * 14 39,840
405 X+HoHF SHI 10,000 8,000 2,000
01 At = S F SHI 10,000 8,000 2,000
O SAZ28 HIIZ2 s2+HE)] ¢
40,000& * 2504 10,000




2N

S Al Ol 3t 2t

M HIIE Ss28 HA(BFEES/HIIES)

S T EoL HEE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Hesg 2el+=H 397,226 318,134 79,092

= 2,000
< 4,500
Al 390,726
101 @124 Hl 233,206 186,601 46,605
04 JIZHHZ2XREE S 233,206 186,601 46,605
O Mg 2= a2 233,206
o JIEz 42,3703 * 13Y * 5 « 5= 143,211
o FX=¢ 42,3703 * 13% x 5= 28,643
o §&3 38,150,370& * 14 38,151
o M3 EE= 21,121,000& * 14 21,121
o H=d 2 2,080
- &Y= 100,000& * 13¥ 1,300
- QOtM 35t 50,000& = 139¥ 650
- 29 10,000& * 13%¥ 130
201 L2l 58,309 68,083 N9, 774
01 At 2t 2l 45,300 55,100 A 9,800
O ger==&H| 8,700
o HEHE AP & 7L 7,400
ols&ng &2 800& * 4,000 3,200
- HUR U= 5,000& = 1004 500
- 27 5,000 = 204 100
- BctAEY 8,000& = 1004 800
- AMES 500,000& * 14 500
- HEEE 058 ttRU(SBu3 25)
500,000& * 3H 1,500
- &8s 42T JH=2E 2¢
50,000& * 1074 500
- HESE HdEF JAFLE Felr
150,000& * 274 300
o MHEEZ 2otz 228 2=z A
100& = 5,0000H 500
o F0 222 % WA
80,000& = 504 = 23] 800
O gxz 36,600
o MEES HER = 82X HA &
Xt 2,000,000& = 1201 & 24,000
o THRS (AL HE, =5) WEEE =)
iy 6,000,000& = 23| 12,000
o THXNS(AFNE, &) HEEE+H
2o ol 150,000& * 43 600
02 =24l 11,009 10,983 26
O o=l 5,482
o MHEEF M8 YAKRFHI 550




2 TADIED
M M2 §8F M (BZES/HIIE)
o9l MRO Mo MEER

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
- Fes 1,9643 = 1004 197
3 2 1,765& = 2004 353
o MEES HdEH1 ety 4,932
- AUHES 1,370 * 304 = 120 = 104 4,932
O 2222 2 HA 527
o MEs AEd )| fe22y|
43,900 * 1200 & 527
O A& &EHl Al 5,000
o MEEE HEH AMEFHH KXY
500,000& = 10= 5,000
03 A2 G H| 2,000 2,000 0
O N8 UsEH #AF =&
2,000,000& = 14! 2,000
202 o4l 3,450 3,450 0
01 2L I 3,450 3,450 0
O MEEE 22l+=H dlun 8 ol
75,000& * 29 * 32 x 33 1,350
O EAXNE HEES =
50,000& * 3Y * 2 x 73] 2,100
206 M ZHl 7,350 7,100 250
01 XHZ Hl 7,350 7,100 250
O WEEE HEY Yooz 7
25,0008 * 43| = 6o & 600
O HEZsS 2ex=HE 2
100,000& = 204 2,000
O HEZE 252 22N E) 2
150,000& * 504 750
O ME2E(HE, H, 28T) 4= 22 =
A 2 2,000& * 2,000kg 4,000
301 et A= 46,575 43,200 3,375
= 2,000
o 1,200
Al 43,375
10 HAFAHI B A2 3,375 0 3,375
O EAXY(HERE, =5, 4H, W) M=
E 2028 AU
75,000 = 50§ *= 3¥ x 33 3,375
12 JIEtE A= 43,200 43,200 0
O M3 &H &2 A
10& * 500,000kg 5,000
O HHlY =1 &2 XAN&E 603 * 270,000kg 16,200
== 1,200
Al 15,000
O HHY =H &HA2 F=OIXS
10& * 200,000kg 2,000
= 2,000




2 TADIED
M M2 §8F M (BZES/HIIE)

Sl RO HoD WEE (S &2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O NMeEEE U3 20,000,000& * 14 20,000
401 AIEBIZ 2018 8,336 8,000 336
< 3,300
Al 5,036
01 A& tl 8,246 7,914 332
O g=sHIIs ISHe AL XM (S
&) 8,336,000 * 98.92/100 8,246
< 3,300
Al 4,946
03 Al 20 HI 90 86 4
O g=sHIIs S =TAE XM (S
A&H)[1.08%] 90,000& = 14 90
405 THobH S| 40,000 1,700 38,300
01 XML = ZH SHI 40,000 1,700 38,300
O NesEs 48 29 XAX 7
40,000,000& = 1CH 40,000
13183 MERA 3,750 3,750 0
201 et 1,350 1,350 0
01 At 22l 1,350 1,350 0
O e+t 1,350
o 13| AHEANM 228 X M
300& = 2,0000H 600
o 1383 MEYW &2 AEH L EE2E
ZAH M 200& = 2,0000H 400
o 2302 1383 EE01J] 228 & =
AH ME 350& = 1,0000H 350
202 O4dl 1,200 1,200 0
01 = LHA YI 1,200 1,200 0
O 13183 MEAN &3 A
75,0003 * 298 * 2 « 23| 600
O 18183 MERM &8 XNk - &=
75,0003 * 298 * 2 « 23| 600
301 L2 A3 1,200 1,200 0
12 JIEtE &= 1,200 1,200 0
O 13183 MERAN B 41D Ba=
20,000& = 52 = 12042 1,200
MEHIIES Meldlgt &= 6,926,995 11,244,113 A4,317,118
SAEHI 2 SEM2AANE ALAMd 177,260 177,260 0
401 A& BIZ 2018 177,260 177,260 0
01 A& HI 177,260 177,260 0
O SANEHII S SEM2AE HEAMY A=
SIS T A 177,260,000& * 14 177,260
HIOISEX2IANE 2 6,649,535 6,769,253 A 119,718




M ZAlOISH

M HIIE Ss28 HA(BFEES/HIIES)
S MBHII2 Meldlgt &35 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 L2l 262,206 216,607 45,599
01 At 22l 141,895 105,296 36,599
O el 22,395
o HH 32T MMEAME zx HEIZA ==
= 4,019,000& = 10H = 4,019
o fME HE A2ZAE OIS HAL ==
=3 5,000,000& * 10024 5,000
o X5t AMT FTAA +42
167,500 = 3XI& * 3MHA * 43 6,030
o ol =EIA =2
60,0002 * 2XIE * 144  43] 480
o SN2 NANANE SHE 2BAN 24
=3 122,100& = 123l 1,466
o HIIXIEE U =2
900,000& » 3M = 23] 5,400
O gxz 115,900
o AMUEANE =& FH X 45,600
- =4 500,000& =* 42 = 123l 24,000
- g= 450,000& * 404 * 123 21,600
o Z0IHEE =& &l X 28,500
- Z3d¢el 500,000& = 15004 = 23l 15,000
- g= 450,000& * 15002 * 23] 13,500
o ZHOIHEE SEM 28 T4l
3,000,000& » 3% * 23] 18,000
o TAXS HII2 MelAd HWEHIIE =
HEH Xt 23,800
- e 5,000,000& * 404 = 13 20,000
- SAX 500,000& * 4HA * 13 2,000
- g= 450,000& * 404 + 13l 1,800
O 2d+¢ 3,600
o SEANEHIIZE SEM2ANE F=UXNAEY
H slo &g 100,000& » 9% « 43] 3,600
02 =224l 120,311 111,311 9,000
O =322 % XA 42,586
o TAEHIIZ2 SEXMeALE BFE=+ AIS
= 5063 * 100& = 365¢ 18,469
o TAXSY HII2HM2AE ®IE L At
=&z 1,500,000& = 12003 18,000
o TAXSY HIISHMAE MI|o-M22
H == 169,890& * 3 A * 1201 & 6,117
O Azl 15,000
o EAXY A2ZAIE SFHI
5,000,000& = 30H A 15,000
O AM&ZEHIs Xl 30,725
o TAXS HIISXeAE |X E=
6,145,000,000& * 0.5% 30,725




M ZAlOISH

M HII2 828 M2A(HFES/HIIS)
S MBHII2 Meldlgt &35 (=& J)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O A& H eyl 32,000
o TAXSY HAXYE |FFH Y FH KA
8,000,000& = 4CH 32,000
202 odl 6,000 4,640 1,360
01 = LH YI 6,000 4,640 1,360
O SAgHIIZ2 SgHeAE &8 =0l
20,0003 * 2% * 22 * 153 1,200
O SA42 NASAE 8 &0l
20,0003 * 2% * 22 * 153 1,200
O AMMBANE B#F ol
50,0003 * 2Y  243| 2,400
O 20IHE & 2822 A 24
50,000& = 2% = 123 1,200
206 M= Hl 36,586 33,076 3,510
01 MHZ 4l 36,586 33,076 3,510
O geiotE 2Y(22 o o9)
25,000& = 19J1 2 = 503l 23,750
O =&EN 7¢ 12,836
o MU AE 2EMN
4,000& = 0.15m * 3,848m = 43| 9,236
o 2H0I0HEE =2EM
4,000& * 20m * 15004 * 33l 3,600
207 Ao 2| 30,000 30,000 0
01 A2 E S| 30,000 30,000 0
O &atH N2 HMAYMME AL AZ2eE8S
30,000,000 * 14 30,000
301 et a3 23,759 23,600 159
12 JIEtE& = 23,759 23,600 159
O HIISX2ANE 2AEES AH 24
51,6503 * 29 » 230 23,759
307 21201 A 6,290,984 5,976,930 314,054
05 BIZHRI & 3 6,290,984 5,976,930 314,054
O SA=2% HII=2Hel =5
2,055,984,000& * 14 2,055,984
O SAgHIIE2 SgHeAE IE§2Y
4,055,000,000& * 14 4,055,000
O SANgHIIE2 SEM2AE Ha A8 X2
15,000,000& * 12013 180,000
SMXS 2H0I0HE & HIM 100,200 67,600 32,600
201 2et24d]| 99,000 66,600 32,400
01 At 22l 99,000 66,600 32,400
O gxz 99,000
o HII2 28 &4 It
5,000,000& * 3 = 23| » 2004 60,000




2 TADIED
M M2 §8F M (BZES/HIIE)
Chel: MEHIIE HMeldler 25

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
o g HIIZ == &H 2LX 39,000
— =24tJ]  500,000& * 20H » 6Y * 2004 12,000
- g 450,000€ = 504 * 6 27,000
202 044l 1,200 1,000 200
01 2L Y| 1,200 1,000 200
O 2t0|0HE & AlEHEZAF & HM & &0l
50,000 * 2% « 3| 1,200
HESABHI (S AIOISHD)(DIEH/DIE) 104,426 103,022 1,404
olad 2 A Y| 14,268 12,153 2,115
ol =AY 14,268 12,153 2,115
101 Q121 H] 14,268 12,153 2,115
01 2 6,132 5,477 655
O 2¥S) NTHY 5224
8,132 6,132
03 RIAHL*ZZ2XHE S 8,136 6,676 1,460
O HJIls Y& s 522
51,650¥ = 1H 1,860
O AM2Z224E = U=2(HIIE 2
21, Mesdgoe 2)
9,6843 * 3 * 18AI2t = 1200 & 6,276
Jl23d | 90, 158 90, 869 AYAR!
Jl2 &4l 90, 158 90, 869 AYAR!
201 et | 53,777 55,019 AN 1,242
01 AP 2t 2] H| 37,361 37,739 N 378
O Lbt==2H| S HH A 12,844 ,000& = 14! 12,844
O 2| 24 517
o RN2Y ITH AN
13,755,000 = 14l 13,755
o ME . .SASE HIS 28YHEI 2ZAl(
-H.s We) 10,762,000 = {14l 10,762
02 B32ZH| 16,416 17,280 864
O 2222 2 HA SHHA
16,416,000 = ! 16,416
202 04 d| 32,181 31,650 531
01 2L I 18,741 18,930 A 189
O BEANEE SHHA 18,741,000 * 14 18,741
02 NI 13,440 12,720 720
O HIIS2&H MR XNE b=
160,000& * 49 x 124 & 7,680
O Mg . A8 HIIZE2 28HE)| ANk S
160,000 = 2% * 1201 & 3,840




: S AOISHDt
- P E=Xe"
. o o

SAAHI (S AIDIE D) (JIEH/DJIE)

CJl=23Hl fEH)
SN HH-S(BN) - MBAY - B il HlnE2
O 1:E3 MEAM N =
160,000& = 1989 = 1201 & 1,920
203 HR=& 4,200 4,200 0
04 FN2EHRF 4,200 4,200 0
O SAIDISH(EA 20¥) 350,0008 * 124 4,200
HeesS (A0S (B EES/HIIZ) ,000,000 750,000 250,000
HEHHK = ,000,000 750,000 250,000
WEHH X = ,000,000 750,000 250,000
702 JI2&EE ,000,000 750,000 250,000
(O RIE=RSE ,000,000 750,000 250,000
O TAE SXAE AL SA 2&H
=0 = 1,000,000,000& * 14l ,000,000






